

88911374-5 02188900452

ران , خيابان وليعصر , بالاتر از خيابان طالقاني . ترسيده به ميدان وليعصر

مركز كامپيوتر ايران

Mr. I.	de distrib	TO A STORY	Colyn Vins	War to well	4. IN 1814	16 40	war to the state of the	11/1	1	
	Model	Picture					Discription			Agent Price
						1.1.	ADSL MODEM			
	part number	Picture	Wireless	Ports	Antenna	USB	Features	خريد	همكار	فروش
150M	DSL-N10_C1		150Mbps over 2.4GHz	1 x RJ11 for ADSL WAN 4 x RJ45 10/100 BaseT for LAN	Detachable 5 dBi antenna x 1	NO	Four independent SSIDs for flexible and encrypted Wi-Fi network configuration Physical WPS button for easy device pairing, plus physical Wi-Fi on/off switch for easy control ASUSWRT Dashboard for easy 30-second setup and advanced network control via an intuitive graphical interface			0
	DSL-N12E C1		300 Mbps over 2.4GHz	1 x RJ11 for ADSL WAN 4 x RJ45 10/100 BaseT for LAN	Fixed 5 dBi antenna x 2	NO	Physical WPS button for easy device pairing, plus physical Wi-Fi on/off switch for easy control Four independent SSIDs for flexible Wi-Fi network configuration ASUSWRT Dashboard for easy 30-second setup and advanced network control via an intuitive graphical interface			0
300M	DSL-N14U B1		300 Mbps over 2.4GHz	1 x RJ11 for ADSL WAN 4 x RJ45 10/100 BaseT for LAN	Fixed 2 dBi antenna x 2		media server ASUSWRT Dashboard for easy 30-second setup and advanced network control via an intuitive graphical interface PPTP server for secure VPN data transmission ASUS AiCloud allows you to access, sync, share and stream data from			0
	\ 					1.2.	VDSL MODEM			
300 M	DSL-N16		300 Mbps over 2.4GHz	1 x RJ11 for xDSL 4 x RJ45 10/100 BaseT for LAN	External dBi antenna x 2	NO	complete future-proofing Four independent SSIDs for flexible and secure Wi-Fi network configuration User definable rules for IP/MAC/Port Upload and download bandwidth management PAITE VENUMENT and PREDITATE VENUMENT	14,175,000	14,700,000	15,600,000
AC750	DSL-AC51U		300+433 Mbps over 2.4GHz . 5GHz	1 x RJ11 for xDSL 2 x RJ45 for WAN/LAN	External dBi antenna x 3	NO	Dual WAN ports for dual usage – Wi-Fi router and DSL modem Compatible with ADSL2/2+, ADSL, VDSL2, fiber and cable services Manage your network anywhere, without needing to boot up a PC VPN server and client support Remotely access your home network through encrypted and private	21,000,000	21,000,000	23,100,000

MI III - WHILE WARRENAS CONT.



88911374-5 02188900452

بران , خيابان وليعصر , بالاتر از خيابان طالقاني , ترسيده به ميدان وليعصر مركز كامپيوتر ايران

	Model	Picture					Discription			Agent Price
AC750	DSL-AC52U		300+433 Mbps over 2.4GHz . 5GHz	4 x RJ45 10/100/1000 BaseT for LAN	External dBi antenna x 4	USB 2.0 x 1	Compatible with ADSL2/2+, ADSL, VDSL2, fiber and cable services Dual WAN ports for dual usage – Wi-Fi router and DSL modem PPTP/Open VPN server and VPN client support Multi-purpose USB 2.0 port Supports file sharing, printer sharing and 3G/4G support	N/A		
AC1200	DSL-AC55U		300+867 Mbps over 2.4GHz . 5GHz	4 x RJ45 10/100/1000 BaseT for LAN	External dBi antenna x 4	USB 2.0 x 1	Support Annex A/B/I/J/L/M Support all VDSL2 profiles WPS Button, Reset Button, Power Button, Wireless on/off Button Printer Server FTP Server Download Master	28,300,000	30,000,000	31,130,000
AC1900	DSL-AC68U		600+1300 Mbps over 2.4GHz 5GHz	1 x RJ11 for Xdsl 4 x RJ45 10/100/1000 BaseT for LAN	External dBi antenna x 3	USB 3.0 x 1	AiRadar universal beamforming for superb Wi-Fi range Enterprise-grade security for your home network VPN server and client support Dual WAN ports Airtime Fairness	52,000,000	54,000,000	55,000,000
AC3100	DSL-AC88U		1000+2167 Mbps over 2.4GHz 5GHz	1 x RJ11 for xDSL 4 x RJ45 10/100/1000 BaseT for LAN 1 x RJ45 10/100/1000	Detachable dBi antenna x 4	USB 2.0 x 1 USB 3.0 x	Adoptitis AdSL, AdSL 2/2+, VDSL2, and the latest G.last broadband connections. • DHCP server, firewall/NAT, DynDNS • VPN server(PPTP/Open VPN) • VPN client(PPTP/L2TP/Open VPN) • Dual WAN Fail over/Fail back	78,300,000		86,130,000
						3	3G & 4G Modem			
AC750	4G-AC53U		300+433 Mbps over 2.4GHz 5GHz	RJ45 for 10/100/1000 BaseT for LAN x 2	External antenna x 2	USB 2.0 x 1 SIM Card x 1	Guest Network 4G LTE Category 6 technology lets you enjoy 7X-faster speeds than 3G mobile broadband. LTE: Downlink 300 Mbps / Uplink 50 Mbps HSPA+: Downlink 42.2 Mbps / Uplink 5.76 Mbps 4G FDD-LTE: 800 /1800 /2100 /2600	48,600,000		
AC1900	4G-AC68U		600+1300 Mbps over 2.4GHz 5GHz	10/100/1000 BaseT for WAN 4 x RJ45 for 10/100/1000 BaseT	x 2 Internal 2dBi antenna x 1 for Wi-Fi Detachable 3dBi	USB 3.0 x 1 SIM Card x 1	Guest Network, AiMesh for mesh wifi system. Fast Wi-Fi Speeds – Concurrent dual-band Wi-Fi delivers smooth streaming with 2.4GHz speeds up to 600Mbps and 5GHz speeds up to 1300Mbps.Ultimate 4G Speed - 4G LTE Category 6 technology lets you enjoy 7X-faster speeds than 3G mobile broadband.LTE: Downlink 300 Mbps / Uplink 50 Mbps HSPA: Downlink 42.2 Mbps / Uplink 5.76 Mbps			



88911374-5 02188900452

بران ، خيابان وليعصر ، بالاتر از خيابان طالقاني ، ترسيده به ميدان وليعصر

مركز كامپيوتر ايران ا

Me 11	de a desperie	NAME OF A	California below to	Lead to IN Street	16 40	men was not all 174.	11/1	1	
	Model	Picture				Discription			Agent Price
	RT-N12HP B1		300 Mbps over 2.4GHz 4 x RJ45 for BaseT for	WAN Detachable 9 dBi antenna x 2	NO	Supports a massive data pipeline of up to 300,000 simultaneous data sessions to handle more online tasks SmartQoS WMM User definable rules for IP/MAC/Port Widnight 301 for Kolandi handles improve modes	8,500,000	15,000,000	
N300	RT-N12+		300 Mbps over 2.4GHz 388ET for 4 x RJ45 for BaseT for	WAN Fixed 5 dBi antennax 2	NO	MIMO technology SmartQoS Parental Control Guest Network: 2.4 GHz x 3 VPN server	6,600,000		
	RT-N14UHP		300 Mbps over 2.4GHz	WAN Detachable 9 10/100 dBi antenna x 3	SB 2.0	SmartQoS Parental Control Guest Network: 2.4 GHz x 3 VPN server Enhanced media server (AiPlayer app compatible) AiCloud personal cloud service			
N800	RT-N800HP		800 Mbps over 2.4GHz 10/100/1000 for LAI	N Fixed antennax 4 BaseT	NO	N800 High Power WiFi Gigabit Router/AP/Range Extender High gain antennas & high power design boost signal range 256QAM™ technology boosts Wi-Fi speed up to 800Mbps – 33% faster than standard wireless N VPN server and client support - network encrypted and private connection Parental control - Monitor and apply scheduled time limits for your children			
					2.2.[DUAL BAND Router			
AC750	RT-AC53		300+433	BaseT N External 2 dBi antenna x 3	NO	time scheduling Concurrent speed up to a combined 750 Mbps data rate. With the ASUSWRT dashboard UI, setup, monitor, and control network applications all in one intuitive area.3 external strong antenna enhances signal transmission MIMO technology 8 MB Flash 64 MB RAM Wireless router mode			
AC1200	RT-AC1200		300+867 Mbps over 2.4GHz 5GHz 4 x RJ45 for BaseT for	0/100 WAN External antenna x 4	USB 2.0 x 1	RC1200*btaf-trand Wi-Fi Router with four Subi antennas and Farental Controls Super-fast concurrent dual-band 802.11ac Wi-Fi at up to 1167 Mbps Improved coverage and multi-device performance with four external 5dBi antennas — two each for the 2.4 GHz and 5 GHz bands USB 2.0 port supports AiPlayer for music streaming MIMO technology			

MINISTRUMENTAL STATE OF THE STA



88911374-5 02188900452

بران ، خيابان وليعصر ، بالاتر از خيابان طالقاني ، ترسيده به ميدان وليعصر

مركز كامپيوتر ايران

Mariala	AL AL STEEL STATE	MANAGE TO	William)	who who well	to IN ALTO	the project	the way of the state of the sta	- /
	Model	Picture					Discription	Agent Price
AC1300	RT-AC1300UHP		400+867 Mbps over 2.4GHz 5GHz	1 x RJ45 10/100/1000 BaseT for WAN 4 x RJ45 for	External antenna x 4	USB 3.0 x 1	Concurrent dual-band AC1300 Wi-Fi speed plus quad-core processor for responsive network performance MU-MIMO technology and huge 256MB memory for the best multi-device performance Four external high-gain antennas with AiRadar universal beamforming for improved Wi-Fi range Monitor and filter internet activities for your families and children	
AC1500	RT-AC59U		600+ 867 Mbps over 2.4GHz 5GHz				4 x Gigabit LAN port Speeds can be up to 10x faster than 100 Base-T Ethernet connections. 1 x USB 2.0 port ASUS AiDisk offers network file sharing both locally and remotely. Enjoy the ASUSWRT dashboard UI for easy setup and manage your	
AC1200	RT-AC57U		300+867 Mbps over 2.4GHz 5GHz	1 x RJ45 10/100/1000 BaseT for WAN 4 x RJ45 for	External antenna x 4	USB 2.0 x 1	Controls, smooth 4K video streaming from Youtube and Netflix ASUSWRT dashboard for easy router setup and management. 3G/4G data sharing, Printer server, Download Master, AiDisK, Parental Control IPTV support Wireless router	
AC1750	RT-AC66U- Black&White		450+1300 Mbps over 2.4GHz 5GHz	1 x RJ45 10/100/1000 BaseT for WAN 4 x RJ45 for	Detachable antenna x 3	USB 2.0 x2	service: Access, stream, share, sync – all on the go with unlimited storage expansion AiRadar optimizes wireless coverage with detachable high-powered antennas Download Master for wireless data storage and access to your router-connected USB storage devices Sharing, printersharing, and 3G sharing via two multi-functional built-in	
AC1900	RT-AC68U		600+1300 Mbps over 2.4GHz 5GHz	1 x RJ45 10/100/1000 BaseT for WAN 4 x RJ45 for	External 4 dBi antenna x 3	USB 2.0 x 1 USB 3.0 x	AC1900 Dual Band Gigabit WiFi Router, AiMesh for mesh wifi system, AiProtection network security powered by Trend Micro, Adaptive QoS and Parental Control Enjoy the combined dual-band speeds of up to 1900Mbps, 3X faster than 802.11n routers High-performance antennas and ASUS AiRadar eliminate dead spots AiMesh Supported - Connect your RT-AC68U to other compatible ASUS routers to create a powerful	
AC2400	T-AC87U BLACK		600+1734 Mbps over 2.4GHz 5GHz	1 x RJ45 10/100/1000 BaseT for WAN 4 x RJ45 for	External Detachable antenna x 4	USB 2.0 x 1 USB 3.0 x	600Mbps for 33% faster performance Link Aggregation Intuitive ASUS Router App lets you control your network anywhere, all without needing to boot up a PC MU-MIMO Troffic Applyager	



88911374-5 02188900452

بران , خيابان وليعصر , بالاتر از خيابان طالقاني , ترسيده به ميدان وليعصر

مركز كامپيوتر ايران

طبقه سوم , واحد ۲۰۷

	Model	Picture				Discription	Agent Price
AC2400	RT-AC87U RED		600+1734	External Detachable antenna x 4	USB 2.0 x 1 USB 3.0 x	600Mbps for 33% faster performance Link Aggregation Intuitive ASUS Router App lets you control your network anywhere, all without needing to boot up a PC MU-MIMO Traffic Applyant	
AC2600	Blue Cave		800+1734	Internal antenna x 4	USB 3.0 x 1	Dual-band (2.4GHz + 5GHz) AC2600 wireless router Amazon Alexa & Echo Integration allows you to control your home network using voice commands Commercial-grade Network Security with AiProtection Advanced parental controls allow you to easily view, manage, and schedule your family's internet and app usage from any mobile device	
AC3100	RT-AC88U		1000+2167	External antenna x 4	USB 2.0 x 1 USB 3.0 x	Mbps for low-latency online gaming, smooth 4K UHD video playback and	

AC5300 GT-AC5300



AC11000 GT-AX11000



2	ე:	т) I	_ D	٨	NI	П
Z.	J.	ı	ZΙ	В	А	IV	u



88911374-5

02188900452

2,970,000

ران , خیابان ولیعصر , بالاتر از خیابان طالقانی . نرسیده به میدان ولیعصر

طبقه سوم . واحد ۲۰۷

مرکز کامپیوتر ایران

2,700,000

Me al	Ma drund	STATE TO STATE OF THE	boto de mal la 18 de ma	the hill	war that it it is	11/1	1	
	Model	Picture		1	Discription			Agent Price
AC5300	RT-AC5300	1000+2167 2167 Mbps over 2.4G Hz, 5 GHz 1, 5 GHz-2	for WAN External antenna x 8	USB 2.0 x - 1 USB 3.0 x 1 1	Anviesh Supported Link Aggregation Tri-Band Smart Connect automatically MU-MIMO Airtime Fairness Smart Connect			
				2.4.W	IFI MESH SYSTEM			
				2.4	.1.TRI BAND			
AC2200	MAP-AC2200 -Lyra	400+867+8 7 Mbps ove 2.4G Hz, 5 GHz-1, 5 GHz-2	T 10/100/1000/Gigabits Internal antenna	_	each delivering data speeds up to 2134 Mbps Coverage for Large Homes Commercial-grade Security with AiProtection Advanced parental controls featuring Family Overview ASUS Lyra App makes setting up, expanding, and managing your			
					3.ADAPTER			
					ISB ADAPTER			
AC1900	USB-AC68	600+1300 Mbps over 2.4GHz		USB 3.0 x	ASUS AiRadar beamforming for outstanding Wi-Fi reception USB 3.0 interface for up to 10X-faster data-transfer speeds Includes cradle for flexible positioning to achieve the very best performance	19,000,000		20,900,000

3.2.Bluetooth USB ADAPTER

power on the go

Operating Systems

Travel-friendly design best-in-class antenna, MIFA

Instantly upgrade your PC or laptop to dual-band AC1900 Wi-Fi-includes

bit WEP, 128-bit WEP, WPA2-PSK, WPA-PSK 25% wider signal

coverage for enhanced wireless connectivity Auto-off function to save

Support the newest Window 10 & MAC OS 10.10

150 Mbps 64-

x 2

Internal antenna 2.0 x

5GHz

150Mbps

over 2.4GHz

USB-N10 NANO

WANTED WANTED AND LONGE



88911374-5 02188900452

بران . خيابان وليعصر . بالاتر از خيابان طالقاني . نرسيده به ميدان وليعصر

| مركز كامپيوتر ايران |

	Model	Picture					Discription		Agent Pr
-	USB-BT400	1 °	-	-	-	USB 2.0 x 1	Bluetooth 4.0 USB Adapter Enables wireless communication with Bluetooth-enabled computers, printers, phones, headsets, speakers, keyboards, controllers, and more Bluetooth Low Energy technology for energy-saving wireless connectivity Highly portable ultra-small design Up to 3Mbps Over 10 meters in free space Support Win 10, Plug and Play		
					3	.3.P	CI-E ADAPTER		
AC3100	PCE-AC88		1000+2167 Mbps over 2.4GHz 5GHz	-	4 x R SMA Antenna) Expre	Instantly upgrade your desktop to ultra-fast Wi-Fi speeds 60% faster Wi-Fi speeds with wider Wi-Fi range than 3x3 AC adapters – (MU-MIMO) Beamforming: standard-based and universal 1024 QAM high data rate		
AC1300	PCE-AC56	4	400 + 867 Mbps over 2.4GHz 5GHz	-	2 x R SMA Antenna	l Expre	AC1300 enhanced AC performance with TurboQAM: 400+867 Mbps 802.11 ac: downlink up to 867 Mbps, uplink up to 867 Mbps (20/40/80MHz) 802.11 a/b/g/n: downlink up to 400 Mbps, uplink up to 400 Mbps (20/40MHz) 64-bit WEP, 128-bit WEP, WPA2-PSK, WPA-PSK, WPA-Enterprise, WPA2-Enterprise High-power		
AC750	PCE-AC51		300 + 433 Mbps over 2.4GHz 5GHz	-	2 x R SMA Antenna	l Expre	Wireless-AC750 Dual-band PCI-E Adapter High-speed wireless Internet connectivity Wireless-AC dual-band for lag-free streaming and high performance network Supports WEP, WPA, and WPA2 encryption methods for enhanced security Software AP (Win7/Win8 driver only)		
300M	PCE-N15		300Mbps over 2.4GHz	-	2 x Detachable antenna) Expre	802.11 b/g/n: downlink up to 300 Mbps, uplink up to 300 Mbps (20/40MHz) PCI Express 64-bit WEP, 128-bit WEP, WPA2-PSK, WPA-PSK, WPS support Software AP		
150M	PCE-N10		150Mbps over 2.4GHz	-	1 x R SMA Antenna	l Expre	802.11 b/g/n: downlink up to 150 Mbps, uplink up to 150 Mbps (20/40MHz) 802.11 a/b/g/n/ac: downlink up to 150 Mbps, uplink up to 150 Mbps (20/40MHz) 1 x R SMA Antenna 2.4 GHz 64-bit WEP, 128-bit WEP, WPA2-PSK, WPA-PSK, WPS support Software AP	3,350,000	